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PART—I / 9m—p
CHILD DEVELOPMENT AND PEDAGOGY / mrm s ain Rrenr-simy

Directions : Answer the following questions

by selecting the correct/most appropriate

1. Which one of the following
staten_mnts IS true about the role of
heredity and environment?

(1) Cﬂrt_aiﬂ aspects of development
are influenced more by heredity

and others more by environ-
ment.

A child’s ability to learn and
perform is completely decided
by the genes,

Good care and a nutritious diet

can fight off any disorder a child
1s born with,

(2)

(3)

(4) Environment plays a significant
role only in the child’s language

development.

Which one of the following
statements cannot be attributed to

Piaget’s theory?

(1) Development occurs in
qualitative stages.

(2) Children censtruct and use
knowledge about their world.

(3) Learning takes place through
constant practice.

(4) Children act on their
environment.

Which one of the following is not
a limitation of the preoperational

thought?
(1) Tendency to concentrate

(2) Development of the symbolic
thought

Egocentrism

Irreversibility

(3)
(4)
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L)
de velopmt

: invites children to think critically?

. Wh ich one of the

. Which one of the

P-1/1

significant role in
[ young children f[or

ent ol

the {ollowing reasons, except—

(q] they galn mastery over their
body

it stimulates their senses

plgy DAas i

Ay

(2]

it is just a pleasant way to
spend time

4] they acquireé NEW skills and
' learn when to uUse€ them

a
(3

which one of the following questions

(1) Do you know the answer to
this?

(2) What is the right answer?

(3] Can you think of a similar
situation?

(4) What are the different ways in
which we can solve this?

following
options best describes progressive
education? '
(1) Learning by doing, project
method, cooperative learning
(2) Thematic wumnits, regular unit
tests, ranking
(3) Personalized learning ability
grouping, labeling students
(4) Project method, ability
grouping, ranking
following

about progressive

statements . ,
fion 18

education explains—Educa
life itself ?

(1) School education .?1;;::1.11‘5
continue as longé as possi .E'
(2) Schools ar¢ not required,

i i chools should
3) Education 117 ]
¥ f:eﬂe,'ct the social and natural

world.
i tor.
(4) Life 18 the tru€ educato

4.

___ﬂ"rT m*ﬁ“"ﬁ*ﬁaﬁmﬁm
(1) 3 ST T P w3

(2) Hﬁmﬁmqﬁmﬁm%

(3) ﬁmﬁﬁﬁmﬁwm%

(@) A T e T w i e
2 7% %4 I R w0 T &

e § U SH-T W TS R

@) I T W AR F
T Td 87

(4) fm ahE U oW R o W
HFd ot

(1) % e, st ff, e S
J)/:gm

(2) fuifew Al frafi TRd A,
i
(3) =i wem, aua FE

Tl Y e
@) e Faf, e e L

7. witte fm % ar § Ferf

} F-m waa aam R =@ @

S 1

(1) e fan @ quEE @8 T T
S T =R

mwﬂﬁmqﬁt,ﬁmﬁ
S ¥ e @ wir g €

(3) Fﬂ’ﬁ 5 foen G i
Wﬁ_i it
(4 AR

PO,



8. Which one of the following can t:} 8. HTW & Mg *

: My * 7
considered as a contribution ﬁﬂ;&,rﬁa?{ 5 TR % &y
kohlberg’s theory? Lk G AT =71 Hr 27 i
(1) His theory has supported an U S5 A% 3 b

aSsociation between cognitive A T % oy it ﬁh

maturity and moral maturity. H‘qghﬁ';‘—m 3 LS B Gy
(2) The theory has elaborate testing

Procedures. (2) wﬁ:la'lﬁﬁ ﬁ'ﬁ'ﬁqﬂm w%

|
(3) It establishes a clear relation-
3 - \

ship between moral reasoning S ?{ﬁﬂ 5 <l P LK e

and action. WWWW%F
(4) His belief is that children are (4) = R

moral philosophers. R e 2|

9. The Zone of Proximal Development Q. ﬁmeﬁﬁwqm éﬁﬁaﬁfﬁﬂﬂmﬁ_

refers to—

(1) the phase when maximum () 36 5 =, ST e g
development is possible g

(2) the developmental phase when (2) 38 fawmErens Tm R, w9 79
child takes complete responsi- A 7 R o 2

bility for learning
(3) a context in which children can /{%Wﬁ,ﬁaﬁﬁmﬁﬁﬁ
almost perform a task on their W H wY FE FH T &

own with the. right level of Had ©
support my— s i
(4) the point in learning when Pt 1 @ 2
support can be withdrawn
* fthed—
10. An androgynous personality— 10. T e
(1) refers to men with feminin€ i wai A g

¢ "
(2) has a balance e w::::u]?;ﬂ = Eﬂmmqﬁm%
generally CﬂnE’idcred =

: : ?
(3) tends :ﬂ be asserive 4) GAE H gaﬁ'-ﬁ "éﬁmﬁ fem W
arrogan (4) i @ 2

i ender
(4) adheres to stereotypical gfiety
roles prevalent in theé S

B




&

children acquire  gender rojles
s through of the following,

except—

(1) mt’di&

(2) socialization
(3) culture

(4) tutoring

12. One of the critiques of standardized
tests has been that—

(1) they represent largely the
mainstream culture and are
therefore biased

(2) their language is difficult to
understand

(3) the tests cannot be admmls
tered on large populations

@) they do not give & clear picture
of a child’s ability

i i jgence
13. The theory of multiple intelligen

says that—

.rapidl}"
(1) intelligenc® can b€

accelerate .
of sever
(2) intelligence e
kinds k-
. tests
_pencl
(3) paperP
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14.

151-

16.

Teacher can utilize both assessment
for learning and assessment of
learning to—

(1) know children’s progress and
achievement level

(2) know learning needs of child
and select teaching strategy
accordingly

(3) assess child’s performance at
pt_::riudji: intervals and certify
his/her performance

(4) monitor children’s progress and
set appropriate goals to fill their
learning gaps

Which one of the following 1s
not related to Continuous and
Comprehensive Evaluation?

(1) It has been mandated by the
Right to Education Act of India.

(2) Itisan integral part of teaching-
learning process.
child’s

s on
(3) It focuse W

achievement n
learning areas.

It is useful to label children as

(4) label
slow, poor or intelligent.

i be
Giftedness in children can
attributed to— .
(1) an interplay between heredity
and environment

(2) a resource-rich environment

(3) successful parents

(4) a disciplined routine

6

P-1/1
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17.

18.

Chidren coming fioms
::c::mnmically disadvantaged socio-
gmunds need = i back-

environin ent which—

(1) teaches them good behavig
ur

(2) values and uses their
and linguistic knowledge '

(3) discourages the use of thei
eir

language SO that they learn th
mainstream language ¥

(4) categorizes children b
their abilities "

The intervention needed for creative
and talented children in the
classroom rests on—

(1) use of customized and stimu-
lating instructional methods by
the teacher

(2) giving extra time to them

19.

20.

(3) being affectionate towards them
(4) giving them the responsibility of

¥

teaching other children

Which one of the following Wy is
not a suitable « Wa¥ to help
hyperactive children jearn?

manageabl segmen :
(2) Offering altcrnatiw ways ©
learning '
it vity 1
(3) Including phyzldcﬁc
& ol I for
g them often
(4) Reprimarn
being rest] |
patterns _of df"' ﬁpﬁﬁﬁ aﬂ'-""'l
1dent:|f}' childf o
(1) disable?
(2) dysle®*
(3) cfﬂaﬂ"’ g
- arent

B
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21.

22.

R B —--wl

y
.l

23.

P-1/1

Which one of the following does not
describe the ways in which a teacher
€an model problem solving for
children in the classroom?

(1) Discuss your thought processes

about solving a particular
problem

(2) Eﬁ_‘ honest about making
mistakes while solving
something

(3) Use vocabulary like think,
ideas, trial and  different
answers

(4)

Ask questions with convergent
answers

Which one of the following is an
emotion?

(1) Memory
(2) Fear
(3)

(4) Stimu lus

Attention

A three-year-old child explainls that
milk is produced by a machine a
the milk booth.
Which one of th.
the best explanation
understanding?

(1) The child has very limited

exposure of the world.

e following offers
of the child’s

(2) The child’s answer is based on
his/her experience of buymng
milk from the milk booth.

(3) The child has never seen cOwS.

(4) The child’s family does not offer
a stimulating environment to
the child.

21_ ﬁ"qfa-ﬁgaﬂ - :
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g0 teacher’'s role?

{ o5CTIDE!

(1) "-‘i:acl‘aer’s most importan

(1) °* 1 ¢ role
o the classroom 18 10 maintain
o A teacher should adhere to th
Tegcribed textbook %

3) {;gmp]ﬁﬂng the syllabus on time
leaving enough time for revision
is important

@ Creating 2 relaxed space where
children learn through dialogue

and ingquiry
25. Wwhich  on€ of the following
classroams encourages S ch
jearning?

(1) A clagsroom with a variety of
material displayed in the class
peyond the reach of children so
that the material 1asts longer
(2) A classroom with open activity
COrners and @& yariety ©
children’s literature
shelves accessible any time ©
the day
neatly

(3) A classroom ufith ;
organized material 111 cupbna;' s
brought out once a week for iree

pity 4y st
(4) A classroom with = ven b
and planncd |earning grven Y

textbook conten

26. Which one€ of
describes the
claasmom?

are’ @
b g 4 rcfﬂfﬂnce 5.
(2) They mas s ® -

(3) They

(4) They

of the {UHDW]ng bESt]
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27. The National
Framework-2005
unl:ieratand_ing from—

(1) humanism
(2) behaviourism
(3) constructivism

(4) cognitive theories

28. The children
considered to be motivated if—

(1) they come to school
dressed in uniform

(2) they maintain discipline in the
class

(3) all are regular in attendance

(4) they ask questions seeking
clarification from the teacher

29. Which one of the following is the
most suitable to improve children’s
learning?

(1) Regular assessment test should
be conducted.

(2) Teacher should explain the
content using different
examples and illustrations.

(3) All types of learning material
should be there in the class.

(4) Teacher should facilitate
children to interact with each
other on real-life situations.

30. The discipline which has a
significant role in a learning
environment is of the kind which
helps—

(1) children to regulate and monitor
their own learning

(2) to create silence

(3) teachers to give instructions

(4) children rote

memorize their

Curriculum
derives its

in a class can be

neatly

lessons

P_[/I 10
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PART—II / wr—II
MATHEMATICS / TU@

pire ctions : Answer the following questions |

o selecting the correct/most appropriate

gptions:

31, The assessment of what children

learn 1D mathematics in primary
classes should not focus on—
(1) understanding of the

mathematical concepts

development of mathematical
language

(2)

(3) preciseness in answering

mathematics problems

development of reasoning skills

32.
instructions
in development of a
concept In elementary classes?

1. Drawing pictures

[I. Using S bolic rcpr:scntation
experiences

gh language

111. Providing
V. Explaining throu

(1) v, 1L I, 1

(2) nL, v, L 1

fgyr : Ftatega v & 5
e Bl IR A F for wt/wad

3% “ﬁ*mﬁﬁﬁnﬁmﬁwmﬁ,
s Siucrataly i
(1) T AT & aE

(2) Tforrg 1o F A
M-"ﬁ grenat 1 A @ A
E:ric Tl

(4) T T T




Which
Sta:tﬂlrj,gnts Ei\"ﬁﬂ
child’s learning of

(1)

(2)

(3)

(4)

one of the following

idea about the
subtraction?

The child has misconceptions

about place value in the process
of subtraction,

The child does not know how to
subtract.

The child knows the process
of subtraction of two-digit
numbers.

It is a mistake and it can be
rectified by repeated practice.

34. Arrange the following steps of cycle
of learning and assessment in order :

L.

II.

11,
V.

(1)
(2)
(3)
(4)

Teaching-learning  integrated

with assessment
Planning and organization of
teaching-learning and assess-
ment
Developing progress reports

' and cnmmunicatl:ng
Eﬂ?ﬂ%rﬁg of children’s learning
and progress
M, I, 0L, IV
1, II, 1v, 111
v, I, 11, I
1N 1.3

34.

W?ﬁmﬁ.%ﬁmﬁl
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35. WhY

36.

,re Roman numerals mnot
cmmmﬂnlj: used 1n u:rritjng numbers
ke the Hindu-Arabic numerals?

(1) The Roman numerals do not

employ place value, so calcula-
ons are difficult to perform
using these numerals.

) Roman numerals are difficult to

remember.
(3) The formation of numbers
using Roman numerals is a

complicated task.

(4) Children get confused with the
English alphabet and Roman
numerals.

A teacher encourages the children
in her class to explain the physical
properties of the objects around
them in their own words.

What is the most appropriate
objective of the teacher to do such
an activity with her students?

interesting activity

(1) It 18 a very
ed in the

which can be perform

36. mﬁmaﬁmmﬁaﬁﬁmq&ém
# e TR & e il 1 3 T=
ﬁaﬂﬁﬁ%ﬁmﬁmﬁﬂm%l

mg@#mtﬁuﬁﬁﬁmﬁ%rﬂﬁ
Soerer 1 gAY I I e

free time for revisiting the e a9 ﬂ T = gehdl 2
concept of shapes: ~
a= et v & FEge | A F
(o) Children enjoy SPEICE %/éﬂ MAT ST
objects in their oWR language - o AR
like they enjoy playing dumb
charades. ' k %ﬁﬂ — = & fd
(3) 1t makes the children a‘?fﬁ 7 g % Mo T fftaqo F
; operties # 3T
the physice) ly which decers st § 9 7
thJc:Lr undcrsts:t'lding about
shapes. ! i (4) T T vy nfafaf & O =
ful activi e o sy a0 afe w8

(4)
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S7. The ma

38.

Ehﬂpkcep ;Iiancs used by illiterate

(1)

1S n .
: ot useful in the mathematics
Classroom

(2)

1S very usefu] | i

s in solving all
mathematical problems
(3)

has ambiguity and very low level
of correctness in it

(4) should be discussed by the
teachers in classrooms as an

alternate strategy in solving
related problems

How should a teacher handle a
heterogeneous group of children in a
mathematics classroom?

(1) By grouping the children of
same ability together and‘ giving
them questions according to
their ability

_ ; , children
B grouping all
9 tggether in the same classroom

B rouping Fhﬂ =
s dJ%fef:nt abilities together &2

that they can learn from €
other

(4) By doing questions acc_ardtuﬁg
to low ability children 11 o
class and giving the _mmp w
questions as home assignmen
to higher ability children

1) R i iy e 3

(2) Wit '
;qigq ;:Ei§j1?1¥IIIFFQT3iﬁ T ¥H 30 i

ﬁ[/i’iwrm o w7 w0 A gy b

(4) H wEhm wwenst 5 = i
dwfcE ol % w1 4 3a9 3
Tt g == 6 9 = he

38, T s #) fie w1 # 7= B
e ) T e

(1) T & g g A= W
et TR T
9 S
wfEd T

e AN
m;ﬁfmﬁmﬁiﬁw
g o

e
4) T @

& ferg FE

h
SPACE FOR ROUGH WORK /

40.

ITi

(1]



p

learning outcomes

are developed— in | 39. 7w ¥ e  wfaee afw fsfaa 0

9, The
T § dTE—

maihﬂmatics

1) such that children may be told
small steps for calculations (1) T & T =51 =i G2l St adr

L/ETQ

(2) to increase the achievement of

children in various educational
SUrveys n (2) mﬁﬁiamﬂi%ﬁﬁ aEo § F=1 @l
£Tg SITC,
(3) to define classwise compe-
tencies and skills to be achieved (3) == TW TRHE F T A FAET
(4) to prepare children for year-end ;
examinations (4) gﬂ%mﬂqﬂmﬁ % fou &= =

40. Which one of the following
happenings in the classroom is an

activity? s fafafy 87
(1) Teacher explaining how to do e & v 3 7 W
sums - 1»/]{

(2) Children reciting counting 11
form of rhymes

(3) Children copying from = ot 5
blackboard ‘-
7 a0 7 T
(4) Children engaged 11 exploration (4) =l

[ PT.O.




41. ;
1. To develop skil] of counting among

children, which one of the following

; :
S 1ot required to be learned as pre-
number concept?

(1) One to one correspondence
(2) Seriation

(3) Reciting
randomly

number names

(4) Creating groups

42. On asking a child “What is area?”,
he/she answered length x breadth.
What can you say about the child’s
understanding about the concept
of area?

(1) The child has no idea about the
concept of area.

(2) The child used the area of
rectangle as general idea of area
of any closed shape.

A

(1) VH-uF e

-
-

-

-4%@%1

(3) e M AgferE w1 4 v

(4) e =

42 HATH I MBI REF "=
27" T o x e IW R
1 YR F a) § @ $ gEg F WA
AT T 8 Wb ol

(1) o= 3 ATed F SEIRT F WA
18 SAFR 8 &

& 3 e ) e s & ¥
(2 W#m#m%ﬁ

(3) The child is right in saying area (3)
is length = breadth. ﬂ'iﬂi X ﬁ'@ﬁ 8l
4 : Ve el
(4) Tﬂta: :hﬂd is confused beiween 4) T Waﬂ{‘q‘f{qﬂﬁ &
meter, Pt Of area and. peri- & #fra 3ereA A B
—'—\—__%____—_\_—__ __________..--'"'"

SPACE FOR ROUGH WORK / 1% @14 % 0 98

p-1/1
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L

443

Hedl §

13,

44,

———

ch one of the following statements

Whi :

{s trué with respect to mathematics

earning?

[1]. Maﬂlemaﬂcs is a difficult
subject to learn.

2) Generally girls are weaker in
mathematics.

(3) Everybody can learn
mathematics.

(4) Mathematics can only be learnt
by rigorous practice.

To teach the Pythagoras theorem, &

teacher has distributed 2 sheet on
which four right-angled triangles
were drawn and asks the :
find the relationship petween the
sides of a triangle.

In the above situation,
used—

the tﬂaChﬂf

(1) inductive method
(2) deductive mﬂth“d

(3) lecture method

d

o
(4) laboratory meth —on K|
FOR
gPACE

43. @ W & @y & B d F
H?H-mwm%?

(1) Tom W ¥ fore w wiea favd

@) SR W wehel T # w
Bt B

WW%mél

{4}wﬁmmmmﬂ;ﬁ@rm
ol ¢l

J;WW/’-
- & forg e

[ p.T.0.



. . Fefafes & @ 9w 3 Eicro o
45. Which one of the following st.F.’llt.E'-'!'I'H‘-'l;ll}“-5 45 SO ﬂ:ﬂm T &7

iS not true about ‘concept maps - LIS :

(1) Concept maps represent a (1) HFegar RlELRE A Heffiyy
collection of inLEr-::unnecFed IR i = Gﬁ%ﬂ'mﬁ%ﬁm
Concepts and links connecting IR WA F19 2|
them.

4 3k

(2) Concept maps should be (2) wFe III A T 7
€onstructed by teachers only. ST e

(3) Concept maps are hierarchical (3) mmﬁﬁﬁﬁﬁﬁ‘w@%ﬁﬂ%l
in nature,

T 4 Fehe Afe T fen 3w 9w

(4] Concept maps help in linking i@ a‘taﬁﬂm% I
prior  knowledge to new '
instruction.

46. g.l_i %_

- g S T

—+— ig—

;i e

9 \
13
6
1 —
m 2
6
& e @ 135
15
?
7 \);’4_
(3) 1'i-5- 15
8 8
® 1= (4) I i 3
N
i
SPACE FOR ROUGH wnnx;mmtfﬁq%m WY 'H] '
s f .
SV

p-1/1
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X , given sha ;
cor the E peEs, whlth

4T ;ﬂ- the following statementg is Dnn: 47. fu T 3hme
] 5 0 =
corrects 'mmmmiﬁ? ﬁq%%ﬂ L
?

OU s [ [
OO
1) All are paraliclograms. Q/nw/ﬂmi@iﬁl

) One of them is not a4
2 v
parallelogram. (2) ¥ R T Wi s 3

(3) T & A WY 2

(3) Two of them are rhombuses.

@) Two of them are rectangles. (4) T A L

the number ‘eleven
hundred eleven’?

(1) 111111
(1) 111111
(2) 12111
(2) 12111
@) 11000110011

11 <
3) 110001100 W __LJLUL

LRT Q.

19




49. The points

A and B represent
numbers on a number line as shown
below

25000 A 39000 B 61000
1 ] l ' o
s SR Eaas R |

The distance between the points
A and B is—

(1) 29000 units
(2) 84000 units
(3) 22 units

(4) 22000 units

- of — kg sugar
50. How many packets 16

1o of sugar?
can be made from 3 4kg

(1) 52

(2) 48

(3) 12

49. B3 4 B AR ek kv
HemH = wiiie w0 d .

g Al B a7 i
(1) 29000 Al
(2) 84000 FFEAl

(3) 22 FFEA

/é 22000 TR

1
3% kg S & 15
.mm‘{-lﬁ%?

kgﬁ%ﬁmﬁﬁ
6

—

‘/V
(4) 64 _/ -

gl

52.

At
-gar
.51-]_ ‘.-:

. )
1T ce

rake™
1y
(2) 3 hot
(3) 4bo

(4) 3 N

A buck
be 0l
measil
Which
combi
corTec
comp!
200 T

(1)
(2)
(3

(4

P-1/1




 and finished at 22 :9g

Harish started his joy
Iney at 18
: 40

taken 1n {:Gmpletmg thﬂjauzrl:e ‘.time
ey 15—

(1) 3 hours 40 minutes
(2) 3 hours 80 minutes
(3) 4 hours 40 minutes

(4) 3 hours 20 minutes

A bucket of capacity 2000 mL is to
be filled by wusing containers
measuring 200 mL and 300 mL.
Which one of the following
combinations of containers is not
correct for filling the bucket
completely by the containers of
200 mL and 300 mL rcspﬂcﬂvely?

1) 1,6
2 4,4

3) 7, 2

(1 40 iz
(2) 3% 80 fae J
-ft)%..-
| , P
(3) 4 "2 40 fie L
a4
(4) 3% 20 fre S
‘,\ﬂ 1‘4\ fi

52. 'zqomLa?ﬁsuomLmuaﬁ%aéﬁm
IqA AW 2000 mL HFad #I Th s
s 21 200 mL 3N 300 mL ¥ Al

3 AR a3 F e Croiiien
ﬁﬁﬁffﬁﬂ#ﬁﬁﬁﬁw-mﬂﬁﬁ%?
(1 1,6 vV
(2) 4, 4 i
o+

e
[3] 7"'2 1 g

\C';Lf' Cﬁ 1




S53. hich One of the following is the Rt
Rk appl‘ﬂmm&tinn of / lﬂS_S 2 A3 “——————ﬁ_sh H T 55.
9.09 9.09 o
I Ty 27
7x3
(1) 3
9 7x3
(L) ===
9
56.
(2) /x4 :
(2)
9
7
(3) L=%
10 T %4
(3)
10
7x3
(4)
10 7x3
4 —
10
54. If one small Square in the grid is
of area 4 sq.units, what is the 54. IR iz % w o =t 4 9 i a7t
perimeter of the rectangle drawn on Al e W = MU s w57 i
the grid? |
| 57.
1 =
(1) 32 gl
1) 32 units
(2) (2) 8 FEREAl
(2) 8 units
(3) 24 —_—
(3) 24 units e
12 gl e SRR 2 e
(4) 12 units =] 7 ; o 4 |I

e
SPACE FOR ROUGH WORK / T% %M # fel —




55-

56.

A child scored 75 marks in each of
ve Suh_]a:c.trS. What is the median
marks obtained by the chilg?

e (2) 375

@) 1 4) 70

]
1

U

which one of the following can be
folded to form the given solid?

(3)

55. Eﬁi‘lﬁfﬁﬂﬁﬁﬁmﬁﬁm
ITH ﬁﬁg! T= T U I f wmieE

1) 75 (2) 375

(3) 15 14 70

s6. fu M W B FE A 3 et e
AT W el &1

A

P

e o

57, af P o g 40 %
’ mmﬂa?




58. Observe the following solid sh : (
g id shape : 1 58. f=ilEa sm =En =1 FHigw Fifm

=F 1 pi

Which f th ing i ] or
vie\:.? Dfmti::giveilﬁ:i;?g el iﬂ;g?ﬂq_m s
o [T el mLrlel 1]

—

_ EEE —
@ [ ] @l | 1] \‘mﬁ @ ﬁ

59. Which one of the following S ts | s9. e § § e W o 27
more?
[ ¥250 ¥z At 200 ¥R

1. & 250 WF 7 B 20 M

I. 200 packets of £250 each

1. 20 dozens of 250 each item
[ 1
(1) 1

(2) I

(3) Both 1 and Il are equal
(4) Cannot pe calculated

60. The sum of 1—1+1-1+1-1+-- to s
even number of terms is— "'ﬁ“%’_

(1) zero (1) I
2) -1 2 -1
(3) +1 (@ +1
ol R =, IS
SPACE FOR ROUGH WORK / T% #T ¥ fou @8
- Al R -
[ Vs ! 5
2\ 7 A O P
*:L_L?ﬂ"'f\ ‘:—;;]_ e
24 53 Y\ ~O




PART—II1 / wm—III

ENVI
RONMENTAL STUDIES / Taisiul 3

D{mc::im.ls : Answer the following questions
py selecting the correct/most
a
Y i Ppropriate
61. What if"‘ the location of Jammu &
Kgshmilr and Goa with respect to
Bihar in India?
(1) East and West
(2) West and East

(3) North-west and South-west

(4) South-west and North-east

62. Under which of the fpllnwing
conditions will the process of
evaporation be slowest?

(1) Both surface area  and
temperature increase

(2) Surface area increases but
temperature decreases

(3) gurface area decreases but
temperaturc increases

(4) Both gurface  area and
temperature decrease

63. The ability to unders't.and relative
position of places. distances and

directions is—
(1) directional E}dll

(2) mapping skill

o
& F”’;

Py : Pt s 3 v 34 % foe et/
3o faped gl

61. Wi i faw 3 Wi s AT T
el

(1) & i ufm
(2) ufgem 3R g

@) S i 2fo-afEm

( P.T.O.




64. Which
Framework
Environmental Studies to be taught

as an .integrated curricular area at
the primary level?

National

Curriculum
(NCF)

recommended

(1) NCF-2005
(2) NCF-1988
(3) NCF-2000

(4) NCF-1975

65. Which region has the p_ractix:e: of
shifting cultivation in India?

(1) North-eastern region
(2) Southern region

(3) North-western region
(4) South-eastern region

— -

66. Which one of the follouﬁ;lg
statements  is not true or
hydropower generated from TIVET

dams?

(1) Dams encourage sustainable

grcwt.h.

(2) It does not pollute water or air.

(3) HydropoWer

(4) Dams

p-1/1

64. ?H“ﬁ'ﬂ qﬁaqimtu‘qa Hio |

SR O TR T 4y

T H TR T F o v g 5
#17

Wn ~2005

(2) e Hio TFo-1988
(3) o Hio THo-2000
(4) W0 Hio THo-1975

65, WA @ frg &3 § wEElG o w6 w
frar= &7

68. Why
affect
(1) ¢

@

{3}

(4)




T, which of the fﬁllt}wing

;;*.rt_:-:‘lhﬁuac gag,fgas‘as-} is!’ﬁl‘t | 67

?ﬁ?. %3 T e
iy

(1) Carbon dioxide

(2) Methane

(2) g
(3) Water vapour

(3) TE-3m
(4) All of the above

(4) F9IF W

68. Why are cold deserts in India no e
t ﬁ - By
affected by the monsoon? 5 ﬁ 3"21?3% ARG e

(1) Cold deserts have hot summers ‘/{%ﬁ S & i T A e

and extremely cold winters. o8]
(2) Cold deserts lie in the rain ; e
shadow of the Himalayas. (QW faea H TR
(3) Air 1s very thin in cold deserts. @) s % e 300 el (@)
G

(4) Cold deserts are at a very high

altitude.
i CR
: { e following 18 : Wﬁ;ﬂﬁﬁ#mwﬁ
= i:;t:;s;iﬂ fuc; tu Taj Mahal = m-mﬁ:ﬁmt?
yellow?
[1], qﬁﬂﬁﬁﬁilm"ﬁ
dioxide
(1) Nitrogen
(2)
(2) Sulphyr dioxide =
(3)
gulphur
(3) SulP @) i
[
(4) Chlorie o7




? - 1
0. Who built the Golconda Fort?
(1) Chola Dynasty

(2) Chalukya Dynasty
(3) Kakatiya Dynasty

(4) Pallava Dynasty

71. What is the mass of an object with

a density of 15 g/mL and a volume
of 3 mL?

(1) 18 g
(2) 45 g

(3) S &
(4) 12 8

72. Which on€ of the following is a
scalar quantity?

WS

(2) Gravity

(3) Momentum

=

[4} Weight

p-1/1

70. TrTe] fer fr awamny
73.

BIECE|

(2) =rgF TeET

(3) =TERdE UwEw

74.

75.

T6.

P-]




-

An object in which ng Jj
pass through is called—%h T

(1) opaque
(2) translucent

(3) transparent

(4) convex

74. What will be the weight of an object

on the surface of the earth whose
mass i1s 10 kg on the moon’s
surface?

(1) 60 kg
(2) 10 kg
(3) 60 N

4) 10 N

1 te
The rate of dissolution of a solu

depends on—

75.

(1) pressure
(2) temperature
(3) surface area

(4) weight

76.

73. U U 3%, Fad @ FE gEw-fEo
& FFhdl, FEATdt o—

| e
(2) TrTEl
(3) UrEEd
(4) ST

74, g ) waw W B I8 F AR = Em
a1 9AH 9291 ) dde W 10 kg &7

M
@) 10 kg
(3) 60 N
(4) 10 N

75, wh feE F -t it
il ¢




T7.

78.

Abhay asked his students to do a
survey in groups on diseases that
people in their neighbourhood
suffered from. The survey is not
mentioned in the textbook. Which
option is mnot relevant for this
teaching-learning strategy?

(1) It provided opportunity
interact with community.

to

(2) It Thelped children
learning with real life.

connect

(3) It enabled children
data handling
together.

understand
and work

1t helped the community
understand the diseases that

they suffered from.

(4)

ively-
respective
appropriat® ap
employ ed?

(1) Cogn itive approach

(3) Enquiry apprﬂa(:h
s st apprmaﬂh
(4) Humanisti® %

?71

9y 3§ mﬁmﬂ%mwmm 9.

T T § o o
w27

(1) 384 ®ge@ F @9 qm 7
s 95 T

(2 ?,ﬂﬁ =t | FEE w6 10
e | wag Tl

3) = w1 27 dsfer W T
1 T A A aeH T

{Commul
Leac:hi.ﬂg
pecaust

it 18

(2) elde
tim

(3) itF

o
AV
un

(4]

EN
classr
scho0

Bni

(1) &

2) ¥

(3
(4)
a1. To !

chi
ant
reli
exi
of

(1l

i

p-1/1




81.

‘Community’
teaching and
because—

(1)

IL 1S In€xXpensive and accessible

(2) e}derly people are wise and have

time
(3) it provides learning opportunity
in real setting
(4) one can accept all knowledge

available in the community
uncritically

In EVS teaching-learning, linking
classroom learning to life outside
school and enriching it implies—

(1)
(2)

going beyond the textbooks
global

and

textbooks 1O
issues

linking
environmental
concerns

(3) whole school approach

(4) going beyond cuFricuiis

(4) #1§ i TEE 9 e T
o1 AT & T e

80. 3o dlo uHe fham-wftrm d Fa A W
S ) e & e F i
i 38 A FO H A T




. ‘Community’
[EE.ChiIlg ariﬁ
because—

. In EVS teaching-learning, linking

81.

(1) itisinexpensive and accessih
Sible

(2) e_lderly people are wige AL
ave

time
(3) it provides learnin
in real setting & Opportunity

(4) one can accept all kn
; owl
available in the com ;d‘Eﬂ

uncritically

classroom learning to life outside
school and enriching it implies—

going beyond the textbooks

to global
and

(1)
(2)

textbooks
issues

] '] ] - g
environmental
concerns

whole school approach

eyond curriculum

(3)

(4) going b

Rama taught
. . and their
that a father, OUE o family

: 7 Jtu nl
children consti 4. apd oher
andparents it is an

then
dﬂ' }rg‘u th],_ﬂk

To class Il stu_dcn_ts,_

a family **

Wﬂlﬁlaqlﬁmmmﬁ 4

80. %o dlo THo fhem-stferm & wen ¥ ww
s =t e & et & e g S
3R W WHG FH F AT 2 —

(1) TIEEIgEH | FTE S

@) A i@ T AW il =1
g § fa® FA

(@) ot fererer g
(4) yrETEE] § = Sl
o < < = T W 7

LE|
gﬁﬁ@wmwwmmwﬂ
3 = | &7

81.




82.

83.

84.

Wl—n(:h Df thﬂ

activi o followsi )
Vity [ activities in Evg”gi 3513 [are
room?

(1) Picture reading

(2) Field visit
(3) Use of blackboard

(4) All of the above

Environmental Studies curriculum

may lead to holistic learning of
children if it is—

(1) integrated
(2) inclusive
(3) thematic

(4) All of the above

(2) for snake charmers as children
do not see
days

(3) that snake charmers may not
harm snakes and they need to
be provided with alternatives
peifore depriving them of their

ﬁvc]jhﬂﬂds

(3) vz F1 3w

Ul

83. YV HEA TIETEA T 4

7 FO] 59 TFA ¢ T Te 2—
(1) ThiFd
(2) FEl
(3) farwem
@) I W
w0
na°lu I!:H“ W 3
o ima%lsﬂ'ﬂmﬁaﬂw
e el T
. ﬁ;ﬂﬁﬂaﬂwﬁ% 4
el
e ﬁﬁm@ﬁaﬁﬂ
2 ® ]
AE
£ T o @
jﬁiﬁﬂﬁ 3 &40 @
Sl &
ﬂqai

(4) that animal keeping is good
source of livelihood

32

5. \hrhlﬂ
= mid-
(1)
(2)
(3)
(4)
86. Wk
in
So
(1)
2
(3
||-1
87. |
!
p-1/



(I) It h .
teschinae
achin g-]_E al'nlng

tEaChmg_le :
Opportunity for g aring
learning, vs teaching-

(3) It is for children who come
empty stomach to school.

(4) It wastes a lot of precious time
of teaching-learning,

86. What does ‘learning without burden’
in the context of Environmental
Studies imply?

(1) Less weight of schoolbag

(2) Less number of chapters in EVS
textbooks

(3) Load of incomprehension needs
~ to be reduced

(4) The EVS curriculum needs:to be

reduced to half

learning
ose does group =
87 :2:: PP EVS ‘classroom?

irls

(1) Boys and &
gcpafﬂtely

erformers

i P
(2) To segregate .hlghsmdcntﬂ and

ﬂ_rld low a 5 tﬂathj‘ng
to do remcdmi of

i_ncujcatﬂ

j a
epable ©
tively an

i Eﬂpﬂfﬂﬁm
er
tagﬂth ﬂ_t'ﬂ ac

@) To P Crdoad

p-1/1

{21 ?ﬂ' é{a T{HO ﬁlw'm #
 fom

f%‘ﬁﬂﬁ%ﬁmg-ﬁ z
'@Téﬁﬁ?mﬁ% El i

(4) T Fam-afem % a7 4 e
9T I Fale A B

86. WGW HPTH & wed § Fm F A
HrEa1 = a4 &7

(1) TEE- H FH T5H

(2) o dte THo WSHGEI B HEAHl F
= HEH

WHﬂﬁmmﬁ#m%

(4) ‘éo #lo THo Wqﬁ 1T FR T
£ %@ ©



88. What is the

ful
(1 - © TS (BALA) =
) Brain Aided T =7 771 37
Assignment : Learning _,,J'H“’"rﬁ
R3] 38T s
) : il
[. ] Brm]lﬂ as I;E : ;
arning Aid (2) #PrTm T ¥ w0
HEQYH P&
(3) Buildin : [MPOR’
g as Learning Aid (3) wferm wEmaE ¥ =g 3 91 to
% ®Y 1 fafeam
(4) Braille : cti
Aided ; pirectior
Assessment Learning {4] ﬁ’a HeEdl-UTmH aﬁ:ﬂ BT and ans
(Q. Nos.
correct/1
When 1t
89. What ¢ : 89, Ff@m 7R | a7ef 37 both maje
i ool do ‘alternative frameworks’ 27 b
_ AcTross
(1) ﬁ'ﬁlﬁ P geaz #1 T developed
(1) Tcxfc.bouk explanations  of 2 z“mt Eifu
various physical phenomena / 2 |
(2) for=m, S SRS i ¥ V:E;Tn‘:
(2) Ideas that differ from the q WWH e £ Conguere
formally accepted explanations ;e ifr:ﬁc
= e had ts
of the concepts () A :m Ayl ﬁ:: = 2 i
aali' i:i 3l ili id were sSumr
(3) ldeas presently hc‘ld _ by ] deployed
scientists and socl scientists @) aff R S zed 3 welt Ci :-:nr::n;
ﬁﬂﬂﬁ% Not limif
(4) All ideas that are firmly held by g
children would ad
E‘ They W
90 ﬂﬁaﬂ Iﬂﬁ # g i Ll U business
A ! In this °
90D, Women arc weaker than men. e d gocial c&
It is a— also serv
I-” ﬁ-ﬁ The first
(1) myth Tw;;; m
(2) 'aiﬂﬁa; ad advantal
(2) scientific fact ' hills an
. Since L
(3) stercotype (3 e from WO
p-1/1

(4) sup erstition

| p-1/1




PART-_W

Language—-l
ENGLISH

IMPORTANT - Candidates
91 to 120), if they have

Shuu]d atte
mpt :
opted for EHGIES o an froi Part—IV (Q. Nos.

H as Language—1 onyy

Directions : Read the pa

& i passage carefully | to attacks by fire. Wood
and answer € questions that foliow o + Wooden castles were
Q. Nos. 91 to 99) by selecting the g eat"-lla-ujlf IEPIB.;Ed by stone, which

7 ¥y increased the strength of th

correct/ most appro rani gth of these
.f Ppropriate options, fortifications; however, being made from
When it comes to structures that are stone did not make these castles entirely
both majestic and well-fortified, the classic | fréProof. Attackers could hurl flaming
European castle is the pinnacle of design. | ©Piccts into the castle through the windows
Across the ages castles changed, | °F 1gnite the wooden doors.

developed, and eventually fell out of use, | The demise of castles can ultimately
but they still command the fascination of | be attributed to gunpowder, During the
our culture. 15th century, artillery became powerful

: enough to break through stone walls. This
Castles were originally built in England by sreatly undermined the military role of

Norman invaders in 1066. As William the castles. Castles were then repia.cad .h?,
Conqueror advanced through Englf::& artillery forts that had no 1:1:21 s:; f;;:f
he fortified key positions to secure ﬁ“; = ad:njnisu*aﬁnfl, and count:'ﬂ c: e
he had taken. Castles also served as’l‘r::PE were indci:cnsll:fl?:- :ilﬂ:ilp z“s’ [l
of operation for Dﬁ:nsive- attaﬁii:md and sosil thil-:ni‘:r:gﬁiﬂiﬂns of visitors each
were summoned to, ‘T-'I'g’anlz':‘-:l a:gay Ca,.SﬂES cﬂﬁﬂﬂ:m:n those who wish to experience
deployed, from castice. 8 thl:f nsive roles f;a:e majestic vestiges of a time long
served both offensive and dele! S

passcd.
in military operations stles . .
LLad] military purposes: calard .-h one of the Jollowrng ;Seslsl:d
Not limited to which the 91. Whi of castles as ©XP
also served as offices e his fiefdom™: 4 cum;sagc?
. ieter control oVer handle in ghe P4 th offensive
would adminis : coutes, = ed bo
s disP svities. tles SETVED Urposes
They would addres d enjoy festivi i (1) Cas defensive P
. ast, an importan o itarily.
busmfass;ra;e castles serve;n as 4, Castles militarily o rabols. of
= this s in medieval wer- (2) Castles @
social centre gymbols of P2 and power s » ocial
a as in im :
ﬂlED Bﬂwﬂ mnstfuctcd d. tjmbﬂf— {3] Cﬁgﬂﬂﬂ wc;fgdiﬁﬂl Engla.nd
The first castles . took centres 1 g where
e from d ch as {les Were the Flaihcir hest
were IO 170 cons fﬂgtllfes' ab}enscs. [4} Caﬂghﬁts Wﬂ'l.ﬂd keep
Those W of paturdl 120 oc defer®ty knlrs:s
tage m nstruc ho 5
advan and verss were usccpﬁbl\c fi ¥
hills casti®™ L ighly S
Since t'hcseth - 35
from wood




92. Which on

describes the
Paragraph 22

(1)

(2)

(3)

(4)

93. The

e of the following best
main idea in

It describes how and wh
William  the Conqueror 1001{
control of England.

It explains why castles were
Erst built in England and the
military purposes they served.
It shows how Norman lords were
often scared and frequently
retreated.

It details all of the purposes that
English castles served.

original castles were first made

from earth and timber because—

(1)
(2)
(3)

(4)

94. Wooden castles were converted 1o

it takes a lot more time and
energy to build a stone castle
it did not occur to people to
build castles out of stone
people did not realize how m:ea.k
wooden castles would be against

wooden castles were prettier
than dirty stone castles

stone castles as—

‘ |
(1) wooden castles take a long time

(2)

(3)
(4

to build

wooden castles are uncomfort-
able

stone castles offer better defense

stone castles stay cooler in the
summer

95. Which one of the following best

explains how gunpowder was

e

nemesis of traditional castles?

(1)

(2)

Wars were fought with guns and
hiding in castles was no longer
necessary.

Artillery forts with  large
cannons became more stylish
than traditional castles.

(3) Defending castles grew difficult,

(4) Cannons were able

p-1/1

since attackers could just shoot

tle defenders.
= to knock

pwn sione walls, so castles
offered little protection.

36

96,

97.

g'a.

99.

Which one of the
wquld best describe
this passage?

followin gt
the contey

(1) William the Conquerer : Briy..
Castles to England =

(2) Defending the Castle Tech;

logies Used to Defend Medie,
Castles \

{3’ A Short HIEtﬂr}" of Cajﬂgg,
The Rise and Fall of Casi
in England

{4) Fancy Living : Learning abo
Castles, Palaces and Fortresss

Which one of the following is &

opinion?

(1) Stone is more resistant to £
than wood.

(2) William the Congueror built the
first castles in England

(3) It is unfortunate thgt caslf'
no longer serve therr origind

(4) Castles were used as ﬂfﬁ‘;:
'of administration during
Middle Ages.

the gived
e a word from the

Cht?::s which mfﬂ“’,ah?ns;cdw

:apme as the word VesUges 2

the passage.
(1) Reminder
(2) Outskirts
(3) Farrage

(4) Creation :

s the
a word which & aa:ll:'r

Choose of the word ‘pinf

antonym

(1) Nadir

(2) Crest

(3) Apex

i4) Steeple

pir
peloW

fi a1l oW

the

gﬂ'ti"

My T
And
Whit
But
My 1
And
She

Anc

Loo

fatisl

100
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ng ¢ Read
.rfctlﬂﬂ ‘Lhe EXtI‘an:t

pret nd answer th given

B s e € questj 102

‘F*.-Iix-g_ Iu_ N[jfﬁ. 100 tD 105] b‘;:'()::l ﬂlat E;l; n;?thﬂr Df Ith

fol mo ectin S God € Lit

o corsect/ st appropriate options, PU people g Dlack Boy
. h—-—-

':..-11_\.' ]’I'_I.Uth Gl bore me 11'1 T_]_']_e EGUthem w-ﬂd
And 1 amm black, but O | my soul is *uls.rhitfz.r
white as an angel is the English child : , @)
gut | am black as if bereav'd of light

to
Prepare them for future trig]
B
{4} to leam hﬂw t
My mother taught me underneath a tree another as Equalsn
And sitting down before the heat of day
She took me on her lap and kissed me,

treat one

103. The mother of ‘the Little Black Boy

And pointing to the east began to say. says his dark skin and face are-—r
Look on the rising sun : there God (1) a blessing
does live

And gives his light, and gives his (2) a veil

heat away. (3) a curse

And flowers and trees and beasts and
men Teceive (4) a cloud

Comfort in morning joy in the noonday.

And we are put on earth 2 little space, 104, The phrase like a shady grove 15—
bear the beams
That we may learn to be€ o 1) a metaphor
And these black bodies and this @) a simile
BN 2 {e of alliteration
‘example O
Is but a cloud, and like a shady grove: [iiaer ;
: 4) a e:_'suniﬁcatinn
100. ‘The Little Black Boy’ was bor? T I9),:0.F
stes !
(1) the desert wa the phrase ias if pereav'd
» house 105. Through the P o
(2) the seﬂzi S T gt the Poct hints &
(@) Yoo YT Jow seli-esteem of the child
(@) the east < ed that b fture
r wish for the fatur
101. ‘The Little Black B (@) lack of PP
. he could be— 1 the boy
(1) eduﬂated (3) colour
der of the above
LS A p.T.0
(3) free | BT
(4) whit€ 37




questions (q :
. N
the Correct/m

107.

108.

109.

1) a variety of activities

(2) Symbolsg

(3) im.ﬁges and diagrams

(4) different types of graph

While reading for comprehension,
we understand that some pairs are

examples of homograph. Which one
of the following is a homograph?

(1) warm/tepid [being neither too

hot nor too cold]
(2) lead [metal]/lead [give direction]
(3) lead [give direction]/ dead [mortal]
(4) mail [post]/male [gender]

A ‘sight word’is a vocabulary item—

vl
1) that needs Proper visu
= understanding of the context
(2) that is to be learnt by heart
(3) that the reader recognizes and

finds meaningful on sight
without a complicated analysis

(4) that helps in judging th,g
effectiveness of the author
style

Which one of the following methods

is suggested for teaching gr ammar
at primary level?

(1)
(2)
(3)

Deductive method
Textbook method

Inductive method

113. Conten

Translation method

(4)

p-1/1

38

R 4

and
one of thEHﬂF =5

TeRardeq
‘problem-

. fDlle-]_ng 5 ]
creatmg and F'Dl'\r'ing B

Bl

314
(1) Listening

(2) Speaking

(3) Reading

(4) Writing

1]

111. Find out the function word iy,

the following.
(1} And

(2) Champion
(3) Handsome

(4) Seizing

112. What do you mean by ‘review'?
(1) Guess
(2) Evaluation
(3) Critical evaluation

(4) Assessment

¢ words arc called—




cloze means—
ﬂl‘r,
lll f‘ﬁ'ﬁ.iﬁhing

Q) missing part

(3) close

(4) assessing

(15, The last Stage of writing 15—

(1) controlled writing

2) guided writing

(3) free writing

4) advanccd writing

116. The pmctdure
method 15—
(1) 1cttersr-‘words—-‘[3h’-'35‘35
_._gentﬂﬂCES

118. According to the
0

National bse
A vVati :
Curriculum ;}fﬂ in the

ENCF]—QGUS. Engliﬁh !
anguage in India_ NS

(1) second
(2) foreign
(3) first

(4) global

119. Read the exchange '

Teacher Shall we go out 1o the
arden and find out the

g
names of those flowers

near the corridor?
Student & Yes, Y8t yeah.
Teacher @ Yes, Maam, please.
Here, the teacher—
(1) relates language
politeness

function with

to

s a polite SUEEESELG“

(2) make i

start reading
(3) confirms the student’s request
offers an alternative |anguag®

(4) one
activity
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(Q. Nos.

Directions : Read the passage given

below and answer the questions that
follow (Q. Nos. 121 to 129) by selecting
the correct/most appropriate options.

Man who is believed to have evolved from
apes, is a curious mixture of varied motives.
He is not only the subject of needs but
is also their creator. He not only seeks to
satisfy his needs but also caters to his
desire for beauty and grace. He is eager
to satisfy his passion for more and more
\nowledge. Although in a general Wa¥
the maxim ‘necessity is the mother of
is by no means the
is something muc:h
peing using s
jnventions from

S e
within him & 5P
has cut down

him t0

intellect to make newer

time to time. He

which is ever € O :-g . with what

arn to S 15

is needs and l¢ derlying thi
:: has. The real purPe oni¥ii :

in its utility

121. Which one of the following is not

the whole truth according to the
passage?

(1) Man has a desire for beauty and
grace.

the

(2) Necessity is mother of

invention.

/M&:T desires to

needs and wants.

cut down his

(4) Man learns to be happy with
what he has.

122. What does the maxim mentioned in
the passage teach us?

(1) To be worldly in the strict sense
of the term
be slave of our needs and

Mmt&

endeavour constantly to
new passions and desires

life and do
mankind

@) To
creale

pe active in
(@) omething to helP

does the gpirit within man tell
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124. Which of th :
L e followin
® i e 1 mg statements | 127. Which one f i
: ntext of the of the foligu i rectiol
passage? statements is not true Wiy L at
: - B
- i o
]Eﬁ?irtluzhotm[]ijf be passive in his | the COITE
e to -
e, (1) Spirit of inventiveness will saml  Did youl
[I. Sopirs - : in good stead. | it
. Spirit l':'rf inventiveness may not | as flexibl
23@111& In good stead in solving (2) Man ; five Hme
ery new problem. w:;:mm the subject of varioy wnow th
te [ﬂ]’]l:'_'.fﬂ[]

HI. Man has a passion for more
and more knowledge.

(1) Only I
(2) Only I and II
(3) Only III

(4) &nly II and III

125. Which one of the following is similar
in meaning to the word ‘maxim’
as used in the passage?

Mciple
(2) Direction
(3) Value
(4) Observation
126. Which one of the following is mot

the characteristic of man as Pper
the passage?

(1) Man has many needs and
motives.

(2) AMan creates many needs for
himself

(3) Man seeks to satisfy his needs.

Man desires to have more and
more comforts and money.

()

(3) Man creates new needs becay,

they are sometimes
ood -
beautiful. - "

(4) Man's inner spint tells him to
on the look out for newer and
higher wants.

128. Choose the word which is opposi
in meaning to the word ‘secks’ &
used in the passage.

(1) Deplores

(2) Avoids

(3} Vanishes

(4) Approaches

Which one of the following ;:hs;ﬂi

in meaning to the word
as used in the passage?

129.

L Urging
2 Supporting

(3) Demanding

(4) Clarifying

46
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pirectiuns : Read
pelow and answer
pllow (Q. Nos. 130
ihe correct/most ap

th
th: PaSEE?_gE Ei\'&]]_
questions that

to 135) p,
Yy selecti
prﬂpriate Dpﬁnncslt'.]:lg

pDid you know th :

i Eft there is a fiber that is
as llexable and llghth:ight ag
five tim it
i €s stronger than steel? Did y

: ou

know that this fabric is resistant to
temperatures higher than 500 degrees
Fahrenheit? Did you know that a woman
invented this fiber? This miraculous fabric
is called Kevlar and it is used to make
everything from body armor to musical

instruments.

The year was 1964. There were gasoline
shortages due to conflict in the Middle
East. A Polish-American chemist named
Stephanie Louise Kwolek was working for
puPont, an American chemical company.
She and her groupP were trying to make

t durable fiber to be used

| Kevlar is a remarkable fabric known for its
strength and durability. Since its invention
it has found its way into a wide variety
of products. Kevlar is used in sporting

El}_'i:lipmcn[ like bike tires, bowstrings and
tennis racquets. Tt is used in musical
instruments like drumheads s and

speaker cones. And it is used in protective

gear 'ﬁf:?_ motorcycle safety j ackets, gloves
E_T_nd shoes. However, Kevlar is best known
for its ability to stop bullets. j

iy

Richard Armellino created the first Keviar
bulletproof vest in 1975 It contained
15 layers of Kevlar, which could stop
handgun and shntgu‘;l_'db‘_l.l_]lu:?_s,__ i'h_f vest
also hé.ﬂ_'ﬁ_s:téel—lﬁig_;r;r the heart,
which made the vest strong enough to stop
rifle rounds. Vests like Armellino’s were
quickly picked up by police forces and
\ is estimated that by 1990- half of all
lice officers in America WOre bulletproofl
s daily. BY 2006, there Were aver 2000

a lightweight, Y€ : .
in tires Lightﬁf tires would alluwvﬁhl;l: t:::umented pﬂliﬂﬁ vest fegyes; OF
. . . t the fcoge tected
to get better g2° i b.ﬁ wear and instances where officers “:EIE P oofl
to resist the ds by wearing bulletpr
strong enough o wear S5 | om dcady voun
' vests. |
: { the following 18 not
130. Wh:::;dﬁi ‘::hﬁt has been made
a
with Kevlar?
of (1) Tennis racqu'?t“ 4
(g Bungee NP 1
M@&'ﬁ ae
: or
i (@ Body &% th following
whi¢ (s Keviar ynown?
t
| stant
(1) Heat 7
! grength
(2) S il [
ra
(3) i ” above
of th 210




132.

133.

Whic
e S};annf: of the following caused
rch for a fabric like Kevlar?

(1) A shortage in
supply

'[Eyadtsi:e to protect police officers

(3) The need to replace asbestos

the gasocline

(4) The want of better

] musical
mstruments

h'vest made of 15 layers of Kevlar
with no steel plates could stop all

but which of the following rounds?’

Dirﬁl‘."ﬁnn_g

questions () éﬂns
. . 136 t
the correct/most apptl:

136, The study of me

18 known aAs—

(1) syntax

vlz!r“ﬁtmantica

(3] morphology

{4) linguistics

Answer

aﬂlﬂg in a hﬂEUagp

(1) Handgun rounds

(2) Shotgun pellets

J;}/Riﬂe rounds

(4) 1t could stop all of the above

137. The teacher tells a story about
animals. Children make animal
noises every time they hear the
name of the animal. It is—

(1) : Ph:,rai{:al TESpONSt

{2) communicative languase

: teaching
134. How much stronger 18 Kevlar than
gigels @) grammar translation
(1) Half as strong :
(4) reading approac
(2) strong
i i9e8
3) Five times as strong 28 g of a ¢ variety nicdmir:l o
- x| u
o tron » activities or device or realiziff
(4) 200 times as strong s lassro S
Jasson objectives e
' i to
135. What product was Kwolek trying
improve when she invented Keviar? (1) method
(1) Tires p{techniqu:
(2 Milk

3) Brake pads

(@) Armor

p-1/1
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A test
the end
rf:ﬂlﬂdial

139

(1 1..~diag

-

-

(2) plac
(3} ach

(4) -Fuc

140. The
gtructt
can be

(1) 0

i:-_]_: W




y—diagllﬂstic test

(2] plﬂcammt test
(3) achievement test

(4) memory test

The practice of grammatical
structures in a controlled manner

can be done by—

40.

(1) correcting  WIong sentences
produced by learners

(2) gap-filling grammar exercises

- ch
of one of the follow;
teaching canp g methods

ot b :
cha.ngﬂabl_‘f with each Z&E—f inter-

EIL_BEIE‘I‘EH':E method
e
(2) Incidental method

{3] DiIECt me ﬂ]nd

(4) Correlative methad

statements is true?

.[D].ID'Wing

(1) All formative tasks are meant
for assessment.

nments need to be given
as classwork followed by
homework everyday to provide
yariety and practice.

(2)

ative assessment, (0 be
must be conducted

aching a lesson.

Fo
effective,
only after te

(3)

e all formative tagks are
meant for {mproving tcachu}g_
learning, gome are used for
a_sscasment too.
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'f-ﬂrhmh one of the following sentences
18 a result of error
translation

another?

arising out of
from our language to

(1) c teacher is

giving
examination.

(2)

The students are giving their
examination.

(3) My joy knew no bounds.

(4) Are you going by the train?

146. Reading skill can be developed
best by— K-

(1) writing answers 10 questions

on text t
the 'use of words

focusing on ' the text

from context

wg vncai:;ulary-cxar{;iscs

playing word

(2)

of
Who would be the implcmt:ntt.'r

gduﬂﬂ.ﬂﬂﬂ?

147.

(1) Teacher

\/W' Education Department

(3) Student

(4) Curriculum

p-1/1

148, 7 lisl-::mng stimulus—

(1) presents mput  to

BTOUps of students wh
dgain to share it

Separale

O gathe

(2) is listening 1o
commentary to review it ford

(3) enables students
a set of criteria
prioritize to
present a task

to  discuss
that . the

complete and it [T

f - 121.
{4) presents an information gap

activity such as giving directions

_ If a language teacher has LE'.:g.!‘.".
& a topic in the class and no studen!
asks questions in her class, e
may be—

122.

payvms

attention
(2) she had been an SR
teacher

-
was aught %

(3) whatever = mpﬁh;-n:um ol

eyond the

hughs!
- ta g
\HA\the students are
I ] of learning

leve
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(1) Newhield

(2) Chapma?

(4) Fries
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